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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-7_0
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P3-7

Bfig) | JEBATE (7)) | ERE (AR | KR e

11:50 273 150.0 FA| 1Bi&@11:50 B3 (KRAHEREE)
12:35 273 150.0 FA| {Ri%@12:35 Bz (GRAEEE)
13:20 273 150.0 | =| 1Ri%e13:20 Bz (kAEREEE)
14:10 273 150.0 & =| 1Ri%e14:10 Bzh (GRBEREEE)
15:05 273 150.0 & =| 1Ri%@15:05 Bzh (RAHEESE)
Hit]1365.0 (5%) 750.0 32 KEC: 2080.0, PH: 6.0

REREBTEC (2700.0) HiZZEEC (2000.0) REK K, HHE

#[EKECE (2700.0 vs 4100.0) RS




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=46 (2025-05-14)

B f————f————f————f—— —— — —— — —
VI, VO''BRV ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
1700 2000
100 + E
119 1056 E
860 82 1000
50 18560 27 =
) . 40
Warning: lcol [FVI',| "FVO’'] missing
0 + -0
200 4 FRV —— ME P30.0
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P3-7

BrE) | GEBAK (3 | ERE (EH/R) (XS R

05:50 273 130.0 (Z=| {Ri%@05:50 Bz (FEAHERHSE)
06:45 273 130.0 |Z=| 1BRi&e06:45 Bzh (REERSE)
08:20 273 130.0 & 1RiRe08:20 B (KRRAERE)
09:50 273 130.0 F  1BRi&@09:50 Bz (RAERE)
10:55 273 130.0 5| {Ri%@10:55 B3 (GRAERSE)
11:45 273 130.0 5| Rike11:45 Bz (GREAERS)
12:30 273 130.0 E BRige12:30 Bz (GRAERESE)
13:15 273 130.0 5| {Ri%e13:15 Bz (GRAERSE)
14:00 273 130.0 =l RRiB014:00 B (RFAEEE)
14:50 273 130.0 E BRige14:50 Bz (GRAEREE)
15:50 273 130.0 |Z=| 1BRige15:50 Bzh (REERESE)
23+ 3003.0 (11%) 1430.0 3 3HKEC: 2080.0, PH: 6.0

LOREBIRTC (273) 57 (241. 0) A°FF, Wt TS BRIERSEXIER
PRINKPRIEBRE147.0 ml.

REREEBIEC (2635.0) 5iZEEC (2000.0) REK K, HHE
HEEKRECE (2635.0 vs 3820.0) RS



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-7_0, Day=45 (2025-05-13)

VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2112
100 - 1760 1700 H764 [ 2000
1500
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50 - 10 - 1000
60 60
Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-7

BfiE) | GEBIETK (D) | EHE (EH/R) | XK R

07:25 273 130.0 |Z=| 1BRi&e07:25 Bzh (REERSE)
08:20 273 130.0 [Z=| {Ri%e08:20 Bz (KA
09:50 273 130.0 FA| 1BRi&@09:50 Bz (KAFEREE)
11:10 273 130.0 FA| 1Ri&e11:10 Bl (RFAFERER)
12:05 273 130.0 FA| {Ri%@12:05 Bz (GRAEREE)
13:00 273 130.0 FA| {Ri%e13:00 Bzh (kRAERESE)
13:55 273 130.0 PH| 1{Ri%e@13:55 Bz (RAERESE)
14:50 273 130.0 FA| 1Bi&@14:50 B3 (KRAHEREE)
16:05 273 130.0 FH| 1Bi&@16:05 Bzl (RAEREE)
2i3t[2457.0 (9%) 1170.0 3203 %EC: 2080.0, PH: 6.0

EREBRK (273) STREA (241. 0) R, FIREM T & WEIERS X XER

ZRINLPRIERE147.0 ml.

large discrepency for begining water status (129:288.0), set to 129 ml.

BEREBIEC (2610.0) HiZZEEC (2000.0) REK K, BHHE

#H[EHECE (2610.0 vs 3652.0) RS




P3-7_0, Day=44 (2025-05-12)

------------------------------------------------------------------------------------- L 2000
VI, VOS8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 1760
100 41400 1500 410 1 1500 ﬁ:
e]
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=440, FV0=0 m=500, FV0=0 m=565, FV0=0
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400 600 800 1000 440 445 450 500.0 502.5 505.0 507.5 510.0 565 570 575
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